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Electrical 30 28 17 5 22 6

1st Fittor 03.04.2023 25.04.2023 30 30 >7 > 29 1
Electrical 30 21 10 8 18 3

2nd Welder 05.06.2023 24.06.2023 30 8 o4 3 57 ]
Electrical e 30 30 23 2 25 5

3rd 03.07.2023 22.07.2023

" [Fitter < g ° ° 30 30 21 6 27 3
Electrical 23 30 30 25 1 26 4

4th Welder g é 07.08.2023 28.08.2023 30 30 27 ] 28 5
Electrical =2 Z 30 30 28 1 29 1

[<%]

5th Fitter f;) E 04.09.2023 25.09.2023 30 30 28 5 30 0
Electrical QR 30 30 21 7 28 2

6th Welder S 06.11.2023 28.11.2023 30 30 23 5 8 5
Electrical 30 30 23 4 27 3

7th Fitter 04.12.2023 23.12.2023 30 30 73 3 26 4
Electrical 30 30 12 12 24 6

8th Welder 08.01.2024 31.01.2024 30 30 0 10 30 0
TOTAL 480 467 352 72 424 43




